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1 &1 Q1 Gi
/ £ &h Gilkl Gilal
o1 | 1.80347 | 23561 | 0.10073 | 0.35300 |
sz | 1.70812 | 2.13873 | 0.20856 | 0.37336
o3 | 158008 | 193683 | 0.30077 | 0.40240
o4 | 146178 | 170035 | 9.38637 | 0.43351
0.5 | 1,38467 | 1.59426 0 44585 | 046995
0.5 | 1.26207 | 1.63830 | 0.48355 | 0.50443 |
pp | 118236 | 160073 | 053441 | 053843
o | 1.11557 | 1.58167 | 0.5T074 | 0.57180
o | 1.08312 | 18732 | 060430 | 0.80451
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&, =1.37314

_ \/9.80665

=0.738 [rad/sec]

(2)

(1.1.1

x1.37314 x tanh| 1.37314 x [
145)

=8.51 [sec]

g =9.80665 [m/s?]

; / =0.483 1

8.51 sec )



nmax(a)zg'ml'Ql'Gl(a)'SV

a S
=_‘M‘Q1'Gl(a)‘_A
g By
14.5
- x1.71083 % 0.46402 x 0.25x 9.80665
9.80665
=2.88 [m]
I S, =0.25x9.80665 [m/s?] i
i 3 i
| Gy(a) = 0.46402 !
! /| =0.483 1
i , =1.71083 i
! /| =0.483 1




1.2

N max

p(r,z) =p

ol 2]

g MNmax (r) Cl(z)

Ci(2)=
cosh(e“;l Hj
a
r=a Z=I max
p(a'nmax) =P 9 Mmax (a) Cl(nmax)
= 1000 x 9.80665 x 2.87774 x 1.19920
= 34kPa
i p =1000 [kg/m?3]
| g =09.80665 [m/s?]
| Nmax = 287774 [m] (112 )
&, =1.37314
cosh{gl(nmax + Hj} ; / =0.483 1
a a o
Cl(nmax) = H
coshf &; —
a
cosh{1.37314 x 287774 + 71
145 145
cosh| 1.37314 x [
14.5

=1.19920
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F=pxA4,
=34x2.60 p: BRE[L. L v 34kPal

= 88.40kN Ar: v T OREEE |
i [2.60X 106mm2] i
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L
M
L ( 4 !
M= FxL | [1705.2mm] i
=88.40x10° x1705.2x107°
=15074x10° N m
M P
p_M
2t
| 15074x10° | i
2x4738 | [473.8mm] i
=1.5908x10°N ‘~7= 777
P
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P
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~ 5.03x10°
=31.63MPa
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